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Question No. 5

The name of the chemical compound Cu,0 is

opper(ll) oxide
~-Opper(l) oxide

pper(lil) oxide

Der oxide
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Question No- 23
What is the percent yield for a reaction if its theoretical yleld Is 135 g and its actual yield IS 97 97
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| The name of the chemical compound Cu3S is:

{ Question No. 25

© copper(Ill) sulfide
© copper(ll) sulfide
® copper(l) sulfide
© Copper sulfide
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Question No. 1
»s the balanced equation for this reaction?

Which of the following giv!
(NO3)2 — Ca3(PO4)2 * NaNO3

Na3POy4 + Ca
NasPOs + 2Ca(NO3) — 2Cas(POs)2 + NaNO3
2Na3PO4 + Ca(NO3)2 , Caz(PO4)2 + 6NaNO3
Na3zPO4 + Ca(NO3)2 — Caz(PO4)2 *+ 3NaNO3
2NazPO4 + 3Ca(NO3z)2 — Ca3(PO)2 6NaNO3




Question No. 1

When the following equation is balanced, the coefficient of wate
N20s (g) + H2O (1) — HNO3 (aq)




Question No. 21

iron(ll) sulfate

iron(l) sulfate
iron(ll) sulfide

iron(l) sulfide
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Question No. 6

How many phosphorus (P) atoms are contained in 158 kg of phosphorus?

1.18 x 1024 phosphorus atoms
3.07 x 1027 phosphorus atoms
3.25 x 1028 phosphorus atoms
2.95 x 1027 phosphorus atoms
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» 2Cas(POs), + NaNO3

NaiPOs + 2Ca(NOs)
+ Ca3(PO4)y + 6NaNO3

»NagPO4 + Ca(NO3)2
Ca(NO3); — Ca3(POq)2 + 3NaNO3

NazPO4 +
+ 6NaNO3

2Na3POy + 3Ca(NO3); — Ca3(PO4)2
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In which of these substances are the

CsCl
SrCl
CIF
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t bonding?
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Question No. 8

What is the final molar { | 64 i M KOH was diluted o a final volur
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Question No. &

gain of oxygen, loss of electrons
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Question No. 1
ation for this reaction ?

(U
NaNO3

gives the balar

Which of the following
Ca(NO3)2 — Ca3(PO4)2

Na3PO4
» 2Cas(POs)y + NaNO3

NasPOs + 2Ca(NO1)
2Na3PO4 + Ca(NOz) — Ca3(PO4)2 * 6NaNO3
NazPO4 + Ca(NO3)2 — Ca3(PO4)2 * INaNO3

6NaNO3

sPO4 + 3Ca(NO3)y — Ca3(PO4)2
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Questian No. g

Which one of the following is oxidized i the following equation’
ZAl(s) + 38O 4q) —> Alx(SOu)af aq) ~ (g

H2SQu(ag
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* equation?
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Question No. 1

When the following equation is balanced, the coefficient of wate
N205 (g) + H20 () — HNO3 (aq)
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© Copper sulfide
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What is the oxidation aumberof manganese inMnO,?
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What is the oxidation aumberof manganese inMnO,?







appropriate conditions, nitrogen and hydrogen undergo a combination
d ammonia:
N2 (@) + 3Hp(g) — 2INH;3 (g)

g sample of N requires 3.0 g of H for complete reaction
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What I Ihe ferm Kor & bond In which a par of electrons s shared equally
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nonpolar covalent bond
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Which of the following is the electron dot formula (Lewis structure) for an atom of
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(b) B (c) *B: (d) B




Which of these COMPOUTTE A&

jonic salt
© strong base
strong acid
weak base



question No. 24

The oxidation qumber of jodine 10 KIO4 18
J +7

® 7

J +1

-1



Question No. 22

Analysis of an unknown substance showed that it has a high bolling point and is brittle. It is an insulator as a N
solid but conducts electricity when melted. Which of the following substances would have those L

characteristics?
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Question No. 6

Which of the following statements is FALSE regarding an ionic bond?

An ionic bond IS the attraction between am

etal ion and a nonmetal ion.
Met

equires energy

formed between two nonmetal atoms
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Question No. |

When the following equation is balanced, the coefficient of H20 is

Ca(s) + H20 (I) — Ca(OH)2 (aq) + H2(g)

R B =
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Question No. 5

The name of the chemical compound Cu;0 is

Copper(ll) oxide
Copper(l) oxide
Copper(iil) oxide

opper oxide
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What is the reducin
Mg + NiO; + |







roduced when 1.5 moles of Cl completely react

2Al+3(] * 2AICI



MKCL OES Chemistry

Total questions in exam: 25 | Answered: 3

Question No. 3

Calcium carbide (Cac 2) reacts with water to produce
CaCy (s) + 2 Hy0 (g)

acetylene (CHy)
C2Hy (g)

“aC) requires consumption of

+ Ca(OH); (s)
The complete reaction of 574 g of C
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Question No. 5

/hat is the term for a bond composed ¢ f three elect

lomic bond
double bond
triple bond

single bond
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Question No. 16

What is the oxidation number of iron in Fe,O5?

A






Question No. 1
olarity of H.SO, solution. it 240mL ol M H, SO was dilutedto a

What is the final
final volume 0

f0.5L2
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Question No. 4

produced when 3 moles of C2HgO completely r

How many moles of H,O could be
with oxygen gas according to the reaction?
C3H¢O +3 02 — 2COz + 3 H2O
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Question No. 2

after balancing the following equation?

What is the coefficient of oxygen gas
A
H02() — __ H20() + 02(2)




Question No. 2

. gas after balancing the following equation?

What is the coefficient ol 0

Ha02() — H20() + __02(8)
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Question No. 6

)

seded to produce 325 grams of ammonia

How any grams of nitrogen are ne

Na(g) + 3Ha(g) — 2NHi(g)




Question No. 7




Question No. 8

Lithium and nitrogen react in a combination reaction to produce lithium nitride:

» 2Li3N (8)

6Li(s) + N2(8)
eded to produce O

How many moles of lithium are ne 20 mol of LizN when the
{ out in the presence of excess nitrogen?

reaction 1s carmed







below, whatis {he theoretical ¥ jeld in moles for NO wl

7 moles of 02?

4 NH: 50 v 4 NO 6 H,0




Question No. 11
How many valence electrons are in a chlorine atom and a chioride lon?

17 and 18 respectively
7and 8 respectively

gand7 respectively

1and 8 u‘slm(hw)\




Question No 12

«idation cannot occur W thout

reduction



Question No. 13

The name of the chemical compound NaNO; is:

sodium(l) nitrite
sodium(l) nitrate
sodium nitrite

sodium nitrate




Question No. 14

The coefficients (a.b.c) needed to balance the equationbelow are:
aNaNO; — bNaNO; + ¢O;

(1.1,2)




Question No. 15

The empirical formula of the molecular compound CeHpp is:

C3Hg

CeHia

CHy
& CH;







Question No. 17

there In 55.0 mL of a 1.90 M aque ition of Na




Total questions In exam 25 | Answered 0

Question No. 18

T'he most correct name for the cot







Question No. 20

I'he systematic name for the chemical ¢ ompound Nay5 15



Question No. 21



Question NO 22
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(a) F* (b)*F* (¢ (d) :!j.'.
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Question No. 4

How many moles of H2O could be produced when 3 moles of C2HsO completely r
with oxygen gas according to the reaction?
CHO+302 — 2CO2 + 3 HO
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Question No. 3

Calcium carbide (Cac 2) reacts with water to produce
CaCy (s) + 2 Hy0 (g)

acetylene (CHy)
C2Hy (g)

“aC) requires consumption of

+ Ca(OH); (s)
The complete reaction of 574 g of C
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Question No. 5

In the reaction below, whatis the theoretical yield in moles for LiOH when 6 grams
of LixO react with 7 grams of H,0?

L0 + H:O -5 21 10H
1.0 mol

0.8 mol




reaction ted by the following equation:
y +Fe(s) 3Fe™* (aq)
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Question No. 1

When the following equation is balanced, the coefficient of wate
N»205 (g) + H20 (1) — HNO3 (aq)

o= | ammm i’ PPN
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guestion NoO 1

What is the oxidation pumberof manganese in MnO,?
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| The coefficients (a,b.c)needed to balance the equationbelow are:
aAl + b0O; — cALO;3

© (3,2.4)
D (4,2.2)
Wi (4,3,2)

Y (423)
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after balancing the following equation?

What is the coefficient of oxygen gas
A
H02() — __ H20() + 02(2)
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Question No. 24

The molarity (M) of an aqueous solution containing 52.5 g of sucrose (C12H2201 1)m

35.5 mL of solution 1s

1.48
0.104
5.46
4.32
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Question No. 8

Lithium and mirogen react ina combination reaction to pmtln

» 2L13N (8)
¢ needed to produc

cess nitrogen?

6Li(s) T N2 (®)

How many moles of lithium ar

yn is carried out i the pr

e 0.20 mol of I 13N

esence of ex

reactic

ce lithium nitride

when the
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Question No. 6

)5 grams of ammonia”

grams of nitrogen are ne sded to produce 3

many
Na(g) + 3Ha(g) — 2NHi(g)
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Question No. 5

The number of lone electron pairs in the N2 molecule 1s _

1 pair
5 pairs
3 pairs

2 pairs
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Question No. 6

Which one of the following contains 92.3% carbonby mass?

C2H2
CO2
CH3F
CH4



ted by the following equation:

ghe best classafication of the reaction represen
Fe™(ag) * Fels) — 3Fe™ (ag)



on No. 10

Questic

‘\11;.‘”\.‘!‘!31'\.l'.\‘"h'xl?\ moles for NO ® hen €

i NO 6 H,0O
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Question No. 5

In the reaction below. what s the theoretical
of Li;O react with 7 grams of H,0?

yield in moles for Li

LhO + H.0 TiOF
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Questian No. g

Which ane of the following is oxidized m the following equation
JAl(s

2 S00(aq) —> Alo(SOu)s iq) ~ A
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Question No. 3

Calcium carbide (Cac 2) reacts with water to prod
CaCy (s) + 2H0(g)

The complete reaction of 57 4

Ice acetylene (
* Ca(OH)» (s

8 of CaC) requires
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Question No. 18

How many moles of AlCl; could be produced when 284 grams of Clx €

with aluminum according to the reaction?
2A1+ 3CL — 2A1CI;
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Cailculate the mass peroent mmpcsmno:'su__lﬁg in Ga(S04 3
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Question No. 18

How many moles of AlCl; could be produced when 284 grams of Clx €

with aluminum according to the reaction?
2A1+ 3CL — 2A1CI;




must be W ater

substance present in a small amount

the substance present in the greatest amount

agiways a solid
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Question No. 14

he number of lone pairs of electrons in HCI is pairs
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Question No. 2

after balancing the following equation?

What is the coefficient of oxygen gas
A
H202()) — H2O() + __02(8)




Question No. 18




What 1s the general term for a substance dissolved in water?

water solution
aqueous solution
ovalen! substance

jonic sat
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Question No. 6

Which one of the following contains 92.3% carbonby mass?

C2H2
CO2
CH3F
CH4



ical reaction produces 725 moles of barium sulfate, BaSO:. What mass (in grams) of barium si

:
)x10° g
g

3g i
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Question No. 18

How many moles of AlCl; could be produced when 284 grams of Clx €

with aluminum according to the reaction?
2A1+ 3CL — 2A1CI;
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Question No. 18
How many moles of AlCl; couldbe produced when 284 grams of Cly ¢

with aluminum according to the reaction?
2A1+3Ch — 2AICI









vioss) + Scam — zV() + 5 CaO(s)

a, which is the limiting



Household sugar, sucrose, has the molecular formula Ci2H22011. What is the mass percent of carbon in sucrc

@ 0333
@ 0421
@ 0.267

.U 0.528



In any balanced chemical equation, the number of atoms of each element on both sikdes of the equation 1s

decreased by one
always the same
doubled

ncreased by one



Choose the best classafication of the reaotsun FOprasaiod by the il

ke’ () 1 Py A

acid-base
precipitation
combustion

Oxidation-reduction

Wiy




|
What s the oxidation numberof carbonin CQO, 2 l




I I ot correc!h nisns R T ..n.u.....”." { 'L




he empirical formulaof the molecular compound Cgllo 18




Ihe number of grams of NaCl (molar mass = 58.5 g/mol) that are required to make 250 mL of 3 2 M solution 15




How many moles of CO; could be produced when 2 moles of C g0 completely react
with oxygen gas according to the reaction?

CHO +30; — 2C0O; + 3 HO




he empirical formulaof the molecular compound Cgllo 18







——————

FThe folowing polyatomic 1ons has a positive charge?
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Question No. 3

Calcium carbide (Cac 2) reacts with water to produce
CaCy (s) + 2 Hy0 (g)

acetylene (CHy)
C2Hy (g)

“aC) requires consumption of

+ Ca(OH); (s)
The complete reaction of 574 g of C




Household sugar, sucrose, has the molecular formula Ci2H22011. What is the mass percent of carbon in sucrc

@ 0333
@ 0421
@ 0.267

.U 0.528



In any balanced chemical equation, the number of atoms of each element on both sikdes of the equation 1s

decreased by one
always the same
doubled

ncreased by one



Choose the best classafication of the reaotsun FOprasaiod by the il

ke’ () 1 Py A

acid-base
precipitation
combustion

Oxidation-reduction

Wiy




|
What s the oxidation numberof carbonin CQO, 2 l







Which Of the following statements 8 FAL SE regaramng an onc bond?

< An onc dond s the attraction Detween a metal on and a nonmetal ion

s

Breaking an onic bond detween wo ons requres energy

' Metal atoms lose electrons and nonmetal atoms gam ekections

The 1onic bond 1S formed between o nonmetal atoms
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OFa chemical formula that helps 1o balsnce a chemical equalion s calked
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OFa chemical formula that helps 1o balsnce a chemical equalion s calked




‘)
What s the oxadation numberof carbon in CQO, 9










‘ Question No. 12

In which of these substances are the

CsCl
SrCl
CIF
Sg

t bonding?

atoms held together by polar covalen
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Question No. 2

after balancing the following equation?

What is the coefficient of oxygen gas
A
H02() — __ H20() + 02(2)







Question No. 8

Lithium and mtrogen react in a combination reaction to produce lithium nitride

N when the
=

6Li(s) * N2 (8)
of lithium ar

» 2Li3N (8)
How many moles ¢ needed to produce 0.20 mol of L.13
reaction is carried out the presence of excess nitrogen?







yn NO
\ wlar

Quest
. of & compound that ha

formul
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Whaty




- Select the element whose Lewis dot symbol IS correct.




| question No.3

| ——
:

| When the following equ

@1
@3
92
05

Al(s)+ H20(D)

ation is balanced, the coefficient of Alis
— Al(OH)3 (s) + H2(8)



L5 FHOWS

Question NO 1

What is the oxidation pumberof manganese in MnO,?




L5 FlHOLl0S
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Question No. 6

Which o

Tthe following statements is FALSE regarding an ionic bond?

An lonic bond is the attraction between a m

ctrons and nonmet
Breaking an ionic bond b

etal ion and a nonmetal ion
Metal atoms lose ele

al atoms gain electrons

NS requires energy

etween two ic
The ionic bond is formeq between two n nmetal atoms
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Question No. 5

In the reaction below. what s the theoretical
of Li;O react with 7 grams of H,0?

yield in moles for Li

LhO + H.0 TiOF
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Question No. 2

after balancing the following equation?

What is the coefficient of oxygen gas
A
H202()) — H2O() + __02(8)




following 15 the eleCuLay s =

which ol the
flunonne”

(b)*F*
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Question No. 1

When the following equation is balanced, the coefficient of wate
N»205 (g) + H20 (1) — HNO3 (aq)

o= | ammm i’ PPN



1 WWhaE I e ferm 1or & bond in which & par of slections i shared equally

© electiovalent bona
& polar covalent bona

lonk: bond

nonpolar covalent bond




-

- Which of the following statements BFA'ISE’}"‘u"'y"‘mi ¥ »i‘ -' l'. é“’.l'}»l | ”ﬁﬁﬁ







Question No. 8
How many lone pairs of electrons are on the

' 1 pair

2 0 pairs
) 3 pairs
) 2 pairs

P atom in PF;?



